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	 2��� Q̇cg� Ṡcg ��	 Q̇cm" �����35 9�?
� ��

��
 
��
���� ��
 ��� �����	
�
	" )�� 
��
���� 9�?
� ��
 ���
� � 3������
 ����" ��


���

������ ��������� �� ��
 ��� 
��� m 2��� �
 	������
	 �� ����
�����  "$"4"



 "$" �@J�&A�A� �L�)��@A, $$

material

gas (p, V, T)

m, U, S

Qcm
'

Qcg
'

S'

H'

m'

Qcm
''

Qcg
''

S''

H''

m''

Qext

Qhx Shx

Um

Scg
' Scg

''

W

������ 
�
	 �
������
 ��.��	�������� ��
��� 
������ 
����� ���� �������� �������	
�� ��� ��	 U ��� ��� �������� Um �	 ����
�	 ��� ��	 ��		 m ��� ��� ��	 �����.6
S� '��� ��� �����.6 �:
������ �������
��	 ��� �������� ��� ��.��	����� �6 Q̇hx
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+ṁ′′cp

T ′′

T
.

C "$1D

����� �8" C "$ D� ��
 
����35 9�?
� �
�2

� ��
 ������� ����

� ��� �
 
?3�
��
	

������
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ṁ = ρAf u , C "$%D

2���� �
���
� ��
 9�? ṁ �� ��
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����� �� I = mu = ṁ L� ��	 �8" C "$;D �
��

�

dI

dt
= L

dṁ
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I = ṁ′ u′ ��	 F ′′
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ṁ′2 T ′

p′
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��������� ′ ��	 ′′ ��
 ���5 �
�
����5 �� �	
����5 ��
 ����	��5 ����
� �� ��


3���
 ���
G� ���	 ′ ��	 ��� ′′ ��	
" ��
 �
�3
����
 3���
 ���
 ����	��5 �

3
�����
� T ′

��	 T ′′ ��
 ����

	 �� �


T ′ = λ′ < Tm,pt > + (1− λ′) Tc C "11D

�� ��� ���	� ��	

T ′′ = λ′′ < Tm,pt > + (1− λ′′)Th C "16D

�� ��� ��� ��	
"

'����� ��
 ��
3�
����� �����
� ��
 3���
 ���
G� ��� ��	
 
?�� �

3
�����
 ��

T ′′
pt,c = (1 − εc) T

′′ ��	 	����� ��
 
?3������ �����
 ��
 3���
 ���
G� ���	 ��	
 
?��

�

3
�����
 �� T ′
pt,e = (1 + εe) T

′" ��
 ��� ��	
 
?�� �

3
�����
 	����� ��
 ����

3�
����
 ��
�
�� �
��?����� �� T ′′
pt,c...T

′′
pt,e = (1− εc) T

′′...(1 + εe) T
′′"

��� �� 
��
���� ��
 3���
 ���
G� ���	 ��	
 2��� ��
 �

3
�����
 Tc 	����� ��
 ��
+

3�
����� �����
 ��	 ��
 3���
 ���
G� ��� ��	
 2��� ��
 �

3
�����
 Th 	����� ��
 
?+

3������ �����
" �
��
� ��
 3���

�
�� λ′ ��	 λ′′ ��� �
 	
	��
	 ���
 ��
 ���	������

T ′
pt,c = Tc ��	 T

′′
pt,e = Th ��

λ′ =
2 εc

(1 − εc) (τ − 1)
C "14D

��	

λ′′ =
2 τ εe

(1 + εe) (τ − 1)
. C "17D

�� �����2�

T ′
pt,e =

1 + εe
1 − εc

Tc ��	 T ′′
pt,c =

1 − εc
1 + εe

Tc τ . C "1;D
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��� ������
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	 2��� �8" C "1D �� ��
	 �� ��������
 ��
 3�
����
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 ��
�
�	5��
�� �5��
 �� ��
 3���
 ���
 
����
"

��� ��� �����	
������� ��
 
��� 9�?
� ��� ��
 ���	 ��	 ��� �
�� 
?�����
� ��
 	
+

���
	 2��� ṁchx ��	 ṁhhx" ��
 ��������	
������ �� ��
 �
�� 
?�����
� ��� ����

�
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�
�	� �� ṁ′
chx + ṁ′′

chx = 0 ��	 ṁ′
hhx + ṁ′′

hhx = 0� ��	 ���� ṁ′
chx = − ṁ′′

chx = ṁchx ��	

ṁ′
hhx = − ṁ′′

hhx = ṁhhx� �
�3
����
�5" E
�� ��	
 
��� 9�?
� ṁ′
chx ��	 ṁ′

hhx ��
 3������
�

��	 ����� ��	
 
��� 9�?
� ṁ′′
chx ��	 ṁ′′

hhx ��
 �
�����
"

.��� ��
 	
:������� C " 7D ��	 C " ;D� �8" C "1D �
��

�

dp

dt
= − Rs Tc

Vcyl
ṁchx − p

Vcyl

dVcyl
dt

C "1%D

��� ��
 �5���	
��
dp

dt
=

Rs Tpt
Vd

rc (rd + 1) (ṁchx − ṁhhx) C "1!D

��� ��
 3���
 ���
 	����� ��
 �����
�
�� ��
3�
����� ��	 ��
 �����
�
�� 
?3�������

dp

dt
=

Rs Tpt
Vd

rc (rd + 1) (ṁchx − ṁhhx) +
p

Tpt

dTpt
dt

C "6#D

��� ��
 3���
 ���
 	����� ��
 ��
�
�� �
��?������� ��	

dp

dt
=

Rs Treg
Vd

rc (rd + 1)

rd
ṁhhx C "6$D

��� ��
 �
�
�
�����"

��
 �5���	
� ��� ����

 �� <'= �� Vcyl = Vd ��	 �� �'= Vcyl = 0" ��
 �
�������


��� 9�?
� ��� �
 ��������
	 ���
 �8" C "1%D �� C "1!D ��	 �8" C "6$D" ��
 
��� 9�?

��� ��
 ���	 �
�� 
?�����
� �� 	����� ��
 �����
�
�� ��
3�
����� ��	 ��
 �����
�
��


?3������

ṁchx,c/e =
Vd

Rs rc (rd + 1)

(
rd
Treg

+
1

Tpt

)
dp

dt
, C "6 D

	����� ��
 ���� 3�
����
 ��
�
�� �
��?�����

ṁchx,hp = 0 , C "61D

��	 	����� ��
 ��2 3�
����
 ��
�
�� �
��?�����

ṁchx,lp = − Vd
Rs Tc

dp

dt
. C "66D

���������� ��� 3���
� ��
 
��� 9�? ��� ��
 ��� �
�� 
?�����
� �� ���
� �5

ṁhhx =
Vd

Rs rc (rd + 1)

rd
Treg

dp

dt
. C "64D
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 3�
����
 	����� ��
 ���� 
����
 3���
� �� ��������
	 �� �����2�0
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�����
�
�� ��
3�
����� ���
 ����
 1 �� ����
 2

���
����� �8" C "6 D �� �8" C "1%D 	
���
��

1

p

dp

dt
= − 1

Vcyl + Cc

dVcyl
dt

, C "67D

2��� ��
 ����
�������

Cc :=
Vd

rc (rd + 1)

(
rd

Tc
Treg

+
Tc
Tpt,c

)
. C "6;D

���
������� �8" C "67D 2��� ��
 ������� ���	������ Vcyl(t1) = V1 = Vd ��	 p(t1) = p1 =

pmin �
�	� �� ��
 3�
����
 	����� ��
 ��
3�
����� �����


pc(t) = p1
Vd + Cc

Vcyl(t) + Cc

, C "6%D

2���� �
���
� �� ����
 2

p2 = p1
Vd + Cc

Cc
. C "6!D

��
�
�� �
��?����� ���
 ����
 2 �� ����
 3

���
����� �8" C "61D ��	 C "64D �� �8" C "6#D ���
��
� 2��� ��
 ����
�������

Chp =
rd
Treg

C "4#D

�
����� ��
1

p

dp

dt
= − 1

Tpt + Chp T
2
pt

dTpt
dt

. C "4$D

���
������� �8" C "4$D ���
 ����
 2 �� ����
 3 �
�	� �� ��
 3�
����


p3 = p2
(Chp Tpt,c + 1)Tpt,e
(Chp Tpt,e + 1)Tpt,c

. C "4 D

�����
�
�� 
?3������ ���
 ����
 3 �� ����
 4

���
����� �8" C "6 D �� �8" C "1%D 	
���
��

1

p

dp

dt
= − 1

Vcyl + Ce

dVcyl
dt

, C "41D
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2��� ��
 ����
�������

Ce :=
Vd

rc (rd + 1)

(
rd

Tc
Treg

+
Tc
Tpt,e

)
. C "46D

���
������� �8" C "41D 2��� ��
 ������� ���	������ Vcyl(t3) = V3 = 0 ��	 p(t3) = p3 =

pmax �
�	� �� ��
 3�
����
 	����� ��
 
?3������ �����


pe(t) = p3
Ce

Vcyl(t) + Ce
, C "44D

2���� �
���
� �� ����
 4

p4 = p3
Ce

Vd + Ce
. C "47D

��
�
�� �
��?����� ���
 ����
 4 �� ����
 1

���
����� �8" C "66D ��	 C "64D �� �8" C "6#D ���
��
� 2��� ��
 ����
�������

Clp =
rc (rd + 1)

Tc
+

rd
Treg

C "4;D

�
����� ��
1

p

dp

dt
= − 1

Tpt + Clp T
2
pt

dTpt
dt

. C "4%D

���
������� �8" C "4%D ���
 ����
 4 �� ����
 1 �
�	� �� ��
 3�
����


p∗1 = p4
(Clp Tpt,e + 1)Tpt,c
(Clp Tpt,c + 1) Tpt,e

. C "4!D

=������ ��
 �5��
 ������� ��
 ��
�������� �� �8" C "4!D� C "47D� C "4 D ��	 C "6!D

	

��	�

p∗1
p1

=
Vd + Cc

Cc

(Chp Tpt,c + 1)Tpt,e
(Chp Tpt,e + 1)Tpt,c

Ce

Vd + Ce

(Clp Tpt,e + 1) Tpt,c
(Clp Tpt,c + 1)Tpt,e

!
= 1 , C "7#D

2���� �� ���:��
	 ��� ��� ����
� �� εc ��	 εe" .������ ���� �� �
�
�����5 ��
 ����� �
�2

�

εc ��	 εe �� 	
:�
	 ��

τ0 :=
εc
εe
. C "7$D

.��� ε := εe �
����� εc = τ0 ε" ��
 ����
 �� ε ��� �
 ������
	 ���
 ��
 

�� ���

�

3
�����
 �� ��
 3���
 ���
 	����� ��
3�
�����

Tpt,c =
1

2

(
T ′
pt,c + T ′′

pt,c

)
C "7 D
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�� 	����� 
?3������

Tpt,e =
1

2

(
T ′
pt,e + T ′′

pt,e

)
, C "71D

�
�3
����
�5" �8" C "7 D ��	 C "71D �
�	 �� ��
 ��

 �
���� ���

ε =
τ/τ0 − 1

τ + 1
. C "76D
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��� �
����� �� ���� ����
����� ��
 ��
 3�
����
� ���������� ��


�5��
 ������
	 �� �8" C "6%D� C "4 D ��	 C "44D �� 2
�� �� ��
 �

3
�����
 ����� τ0

�����	��
	 �� �8" C "7$D"

����! %�
��
����	 �� pV & ����' ���	������� ���� �	� �(���	��

�� ���� ����
����� ��
 pV + 2��� ������
	 ���
 ��
 3���
 ���
 
����
 ��	 ��
 �
�����

�� �
�� ������
��
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� �5��
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����
 ��
3��
��� ��
 ��������
	" ��
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	 �� 	
�
�
��
 ��
 ��
�
�� 
>��
��5 �� ��
 �	
�� 
����
 �5��
"

��
 pV � . �/ WpV �� ��������
	 ������� ���
������� �� ��
 �����
�
�� ��
3�
�����

3�2
� Ẇc ��	 ��
 �����
�
�� 
?3������ 3�2
� Ẇe �����	��� ��

WpV =

∫ 2

1

Ẇc dt +

∫ 4

3

Ẇe dt = −
∫ 0

Vd

pc dVcyl −
∫ Vd

0

pe dVcyl . C "74D

�8" C "74D �
����� 2��� �8" C "6%D ��	 C "44D ��

WpV = pmin (Vd + Cc) ln

(
Vd
Cc

+ 1

)
− pmax Ce ln

(
Vd
Ce

+ 1

)
, C "77D

��	 ��� �
 
?3�
��
	 ������ �
��
� 
?3������ �����	 ε = 0 ��

WpV =
∞∑
i=0

ai ε
i a0=0

=
∞∑
i=1

ai ε
i. C "7;D
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���
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�����
 ����� ����
 2���� ��
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"
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����� �� �8" C "76D �� �8" C "77D� ��
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��
	 �������

�
��
� 
?3������ �����	 τ − τ0 = 0 ��

WpV =
∞∑
i=1

bWpV ,i (τ − τ0)
i . C "7%D
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��
 �
�� 9�?
� Q̇cyl� Q̇pt ��	 Q̇reg �� ��
 ��� �� ��
 �
�3
����
 ��
3��
��� ��


��������
	 ����� �8" C ";D� 2���� �
��

� ��� ��
 �5���	
�

0 = cv Tc ṁchx + Q̇cyl − p
dVcyl
dt

− ṁchx cp Tc , C "7!D

��� ��
 3���
 ���
 	����� ��
3�
����� ��	 
?3������

0 = cv Tpt (ṁhhx − ṁchx) + Q̇pt + ṁchx cp T
′′ − ṁhhx cp T

′, C ";#D

��� ��
 3���
 ���
 	����� ��
 ��
�
�� �
��?������ 2��� ��
 	
:������� C " 7D ��	 C " ;D

cv p Vd
Rs rc (rd + 1)

dTpt
dt

= cv T (ṁhhx − ṁchx) + Q̇pt + ṁchx cp T
′′ − ṁhhx cp T

′, C ";$D

��	 ��� ��
 �
�
�
�����

0 = − cv Treg ṁhhx + Q̇reg + ṁhhx cp Th . C "; D

����� �8" C ";D ��
 �
�� 9�?
� �� ��
 �
�� 
?�����
�� ��
 ��������
	 ��� ��
 ���	 �
��


?�����
� 2���

Q̇chx = ṁchx cp (T
′′ − Tc) , C ";1D

��	 ��� ��
 ��� �
�� 
?�����
� 2���

Q̇hhx = ṁhhx cp (Th − T ′) , C ";6D

�
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��
� 
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ε = 0 ���2� ���� ��
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��� Ca0 ε
0D 	���33
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����� �8" C "76D� ��
 ������
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	 �
�� ��� �
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��
	 ������� �
��
� 
?3������

�����	 τ − τ0 = 0 ��

Qcyl =

∮
Q̇cyl dt =

∞∑
i=1

bQcyl,i (τ − τ0)
i C ";4D
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��� ��
 #����!��� ��

Qchx =

∮
Q̇chx dt =

∞∑
i=1

bQchx,i (τ − τ0)
i C ";7D

��� ��
 # �! ���� �%#������� ��

Qpt =

∮
Q̇pt dt =

∞∑
i=2

bQpt,i (τ − τ0)
i C ";;D

��� ��
 �"��� �"(�� ��	 ��

Qhhx =

∮
Q̇hhx dt =

∞∑
i=1

bQhhx,i (τ − τ0)
i C ";%D

��� ��
 � � ���� �%#������" ��
 ������
��
	 �
�� �� ��2�5� �
�� �� τ = τ0 C�



)33
�	�? �D"

��
 :��� 	
�������
 �� �8" C ";;D �� τ ��

dQpt

dτ
=

∞∑
i=2

i bQpt,i (τ − τ0)
i−1 =

∞∑
j=1

(j + 1) bQpt,i (τ − τ0)
j . C ";!D

��� τ = τ0 �8" C ";!D �
��

� �
�� C�

 )33
�	�? �D" ����� ��
 ������
��
	 �
�� ��

��
 3���
 ���
 ��� � ����� 
���
�
 �� 
�?�
�
 �� τ = τ0" ���� �����
����� ��� �


��
	 �� ��������
 τ0" ��
 :��� 	
�������
 �� Qpt �� τ �� τ = τ0 ��

dQpt

dτ

∣∣∣
τ=τ0

= − κ pmin Vd (rd (τ0 − 1) − 1)

(κ − 1) (rd + 1) τ0

!
= 0 . C "%#D

��� ��
 
���
�� �

3
�����
 ����� ����
 2���� ��
 
����
 �� 3����	��� � 2��� ���3��

�
�����

τ0 =
rd + 1

rd
. C "%$D

��
 �
���	 	
�������
 �� Qpt �� τ �� τ = τ0 ��

d2Qpt

dτ 2

∣∣∣
τ=τ0

=
κ pmin Vd r

2
d

rc (κ − 1)

4 r2d (rc − 1) + 2 rc rd (rc + 2) + r2c
(rd + 1)2 (rd (2 rd + 3) + 1) (2 rd (rc + 1) + rc)

. C "% D

��
 ���� �� �8" C "% D �� ���
��
	 �5

σ = 4 r2d (rc − 1) + 2 rc rd (rc + 2) + r2c .
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�� rc < 1 ��	

rc < 2 rd

√
r2d + 4 rd + 2 − (rd + 1)

2 rd + 1
,

σ �� �
���
� ���� �
�� ��	 ���� d2Qpt/dτ
2|τ=τ0 < 0" �� ���� ���
� �� τ = τ0 � �����
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 3���
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"

�� rc < 1 ��	

rc = 2 rd

√
r2d + 4 rd + 2 − (rd + 1)

2 rd + 1
,

σ �� 
8��� �� �
�� ��	 ���� d2Qpt/dτ
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dSirr,cyl

dt
= − ṁchx

(
cv

(
ln
Tc
T 0

− 1

)
+Rs ln

Vcyl
V 0

)
− ṁchx

(
cp

(
1− ln

Tc
T 0

)
+Rs ln

p

p0

)

= ṁchxRs

(
ln
Tc
T 0

− ln
Vcyl
V 0

− ln
p

p0
− 1

)
,

2���� ���
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dSirr,cyl

dt
= ṁchxRs

(
ln

(
Tc
p Vcyl

p0 V 0

T 0

)
− 1

)
= − ṁchxRs

(
ln
mcyl

m0
+ 1

)
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∮
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ln
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+ 1

)
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dSirr,chx

dt
= ṁchx cp

(
1 − ln

Tc
T 0

)
− ṁchx cp

(
T ′′
chx

Tc
− ln

T ′′
chx

T 0

)
C "!1D

= ṁchx cp

(
1 − T ′′

chx

Tc
+ ln

T ′′
chx

Tc

)
.
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Sirr,chx =
cp pmax

Rs Tc

VdCe

Vd + Ce

(
(τ0 + 1) ε

1 − τ0 ε
− ln

1 + ε

1 − τ0 ε

)
. C "!6D
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∞∑
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dSirr,pt

dt
= (ṁchx − ṁhhx)

(
cv

(
ln
Tpt
T 0

− 1

)
+ Rs ln

Vpt
V 0

)

+ ṁchx

(
cp

(
T ′
pt

Tpt
− ln

T ′
pt
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)
+Rs ln

p

p0

)
− ṁhhx

(
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(
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pt
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− ln
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)
+Rs ln

p
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= (ṁchx − ṁhhx)

(
cv

(
ln
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− 1

)
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(
ln
Vpt
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+ ln
p
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))

+ ṁchx cp

(
T ′
pt
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− ln

T ′
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)
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(
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Tpt
− ln

T ′′
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)
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(
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T ′
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Sirr,pt = cp

∮ (
(ṁchx − ṁhhx) ln

Tpt
T 0

+ ṁchx

(
T ′
pt

Tpt
− ln

T ′
pt

T 0

)
− ṁhhx

(
T ′′
pt

Tpt
− ln

T ′′
pt
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))
dt.
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Sirr,pt =

∞∑
i=2

bSpt,i (τ − τ0)
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dSirr,hhx

dt
= ṁhhx cp

(
T ′
hhx

Th
− ln

T ′
hhx

T 0

)
− ṁhhx cp

(
1 − ln

Th
T 0

)
C "$##D

= ṁhhx cp

(
T ′
hhx

Th
− 1 − ln

T ′
hhx

Th

)
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rd (1 − τ0 ε) + 1

(
ln

1 + ε

1 − τ0 ε
− (τ0 + 1) ε

1 + ε

)

+ cp
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ṁhhx
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T ′
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= ṁhhx
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cv
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ln
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− 1
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− ln
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∮
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ln
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Th
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− ln
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∮
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p
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Υ1 ≈ a0 + a1 (τ − τ0) C "$#7D
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Υ2 ≈ a0 + a1 (τ − τ0) + a2 (τ − τ0)
2 , C "$#;D

�
�3
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Υ ≈ λΥ Υ1 + (1 − λΥ) Υ2 , C "$#%D
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2
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Υ2

2
= a0 + a1 (τ − τ0) +

a2
2
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χpV = χcyl = − (4 r3d (rc + 1) + rc (6 r
2
d + 4 rd + 1)) (rd (τ − 1) − 1)

4 (2 rd + 1) (rd + 1)2 (2 rd (rc + 1) + rc)
, C "$$7D

χchx =
rd (rd (τ − 1) − 1)

(rd + 1)2 (2 rd (rc + 1) + rc)
, C "$$;D

χpt =
(r2c (2 rd + 1) + 4 rd rc (rd + 1) − 4 r2d) (rd (τ − 1) − 1)

4 (rd + 1)2
(
r2c (2 rd + 1)2 + 2 rd rc (2 rd + 1)

) C "$$%D
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χhhx =
(2 rd − rc) (rd (τ − 1) − 1)

4 (rd + 1)2 rc (2 rd + 1)
. C "$$!D
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η=th ≈ κ − 1

κ (rd + 1)
(1 − f1) C "$ #D

��	

η<th ≈ κ − 1

κ (rd + 1)
(1 − f2) , C "$ $D
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2
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c + 2 (rc + 1)) + r2c )

(8 rc r
3
d + r2d (2 (τ − 1) + 20 rc) + rd (rc (17− τ)− 2) + 5 rc) (2 rd (rc + 1) + rc)
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f2 =
(rd (τ − 1) − 1) (4 r3d (rc + 1) + r2d (6 rc + 8) + 4 rd (rc + 1) + rc)
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∮ ∑
i

ṁ′′
i dt

!
= 0

�� ���:��
	"

��
��5 ����
����� ���������� ��
 
����
 �5��
 	

��	�

∮
dU

dt
dt =

∮
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Ḣ ′
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∮ ∑
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∮
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∮
Q̇i dt = WpV +Qcyl +Qchx +Qpt +Qhhx +Qreg

!
= 0 ,

C "$ ;D



 "6" =@A,�,��A=F ��,�, )A' )==�&)=F �J)E�)��@A 14

2�
�
 ∮ ∑
i
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∮ ∑
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∮
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∑
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∮
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Vd
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√
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√
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− ṁ′′cp T ′′, C "$14D



67 =�)(��&  " ���@&F @� ��� (�E,� ��<� �A��A�

��
 
��
���� �

3
�����
 2���

ρm Vm cm
dTm
dt

= − Q̇hx − Q̇′′
cm + Q̇ext,cyl , C "$17D

��	 ��
 �

3���� �����
 �� ��
 
��� 9�? ṁ 2���
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(p − p′′) − 2 ff Rs T ṁ |ṁ|
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 ṁ′′ = 0 ��	 ��
 ����
3���� p′′ = p �� ��
	"

(���
 ���
 ��	 �
�
�
�����

<��� ��
3��
��� ���
 �������� ����

�" ,���
 3���
 ���
 ��	 �
�
�
����� ��
 �����
	

�
�2

� ��� ��	 ���	 �
�� 
?�����
��� ��
5 ���
 ������ �?��� �

3
�����
 	������������"

�� ���
 ���� �������
������ ���� �������� ��
 �
�
�
����� ��	 ��
 3���
 ���
 ��
 
���

	���	
	 ���� n ���+������� ����

� i 2��� � �������
������ �

3
�����
 Ti"



 ";" A���&�=)E �@'�E @� ��� (�E,� ��<� �A��A� 6;

pulse tube

position

Qcg,i /Qcm,i Qcg,i /Qcm,i

Hi Hi

mimi

Tc

Th

p1 ,V/n,T1
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Qext,reg,i

pi ,V/n,Ti

Tm,i

''

''

Qcg,i /Qcm,i
'' ''Qcg,i /Qcm,i

' '

'

'

T
m,reg

0

��� "

����
���
�� �� ��� �����������

������ 
���	 ��	
���������� �� C�D .��	� ���� ��� C�D ������������ ���� 
��.�����	 ���
��
���� �� � ������ n �� 	��,
������ 
�����	 ���
� 
�� ��)�� ��� ���� 
��.�����	� !�
�
	��,
������ 
����� i ��	 ��� .��		��� pi ��� ��	 ���.������� Ti ��� ��� �������� ���.�������
Tm,i� ������� ��� 	��,
������ 
�����	 ��		 H�:�	 ṁ′

i ��� ṁ′′
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cv pi V/n
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A+ ṁ′
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1 , ṁ′
B > ṁtr

ṁ′
B

2 ṁtr
+ 1

2
, − ṁtr ≤ ṁ′

B ≤ ṁtr

0 , ṁ′
B < − ṁtr
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� Ė ��
� ��



����
 �5��
 ��	 
����3�5��� ��
 �
����� 2��� ��
 �3
������ ��
8�
��5 f " )� �� 
?�
+

3�
� ��
 �5��
 �
�� 9�? �� � ��
3��
�� ��	 ��
 �
� �5��
 3�2
� ��
 ��������
	 2���

Q̇cyc = f
∮
Q̇ dt ��	 Pn = f

∮
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 3�2
� ���� 	�
 ��

�
3
��
�� �
�� ������
� �� ��
 �
�� 
?�����
�� �
����� ��

Pl,hx = |Pb,id − Pb,re| = (1 − ηhx) |Pb,id| . C "$4 D
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 �������� ����
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������� ���
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�� 
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 �
�
�
����� �
�	� �� ��
 3�2
� ���� 	�
 �� ��� �������� �
3�
�
��
	 �5

Pl,fg = f

∮
2 ff |ṁ3|L
ρ2A2

f dh
dt . C "$41D
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 �
�� 
?�����
�� ��
 ������ ��
 ����
 �� ��
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	 �� �
 �� 
���� �
3������
"

��
 ����� ���
���� 3�2
� ���� �� ��������
	 2���

Pl,int = Pl,cd + Pl,hx + Pl,fg . C "$46D
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�� ��
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� ��� �� �
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���� 3�2
� ����
�

C����	 ��	5 ��������D �� ��
 �5���	
� ��	 ��
 ����� 

������
" ��
�
 3�2
� ����
� ��


��������
	 ���
 ��
 �������� ����
 �
�2

� ��
 3����� ��	 ��
 �5���	
� F cyl
f �� 2
�� ��

��
 �������� 
�

���
� Msh
f �� ��
 ����
����� ��	 ��	 ��
 ����� ����� �
������" ��


�
������� 3�2
� ���� 	�
 �� ����	 ��	5 �������� ��

Pl,ext = f

∮ (
|F cyl

f up| +
∑
i

|Msh
f,iνi|

)
dt , C "$44D
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�
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 �
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3
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����� 
��	 +.������� 
��������	 ��� ��	��� .��������	 �� ��� /������
� ������ RJPS

����'���� ��'( � 7��"�
���
���� �

3
�����
 ��? Tm,hhx 332 ◦C
���
���� �

3
�����
 ��?1 Tm,chx1 35 ◦C
���
���� �

3
�����
 ��?2 Tm,chx2 51 ◦C
)
��
�� 3�
����
 pa 101.325 kPa
������� 3�
����
 �� <'= pf 88.4 kPa
����
�
 3�
����
 pmin 87.1 kPa
(�
����
 �
3����	
 p̂ 28.4 kPa
=5���	
� ���
 b 27.6mm
(����� �����
 s 60.0mm
=���� ����� rcr 2
(���
 ���
 	��

�
� dpt 27.2mm
(���
 ���
 �
���� Lpt 73.5mm
&
�
�
����� 	��

�
� dreg 27.2mm
&
�
�
����� �
���� Lreg 91.0mm
�
�� ��
�
� nm 50
.��
 	��

�
� dw 193μm
(������5 e 0.762
'��3���


�� ����

 Vd 35.90 cm3

'
�	 ����

 V0 48.00 cm3

(���
 ���
 ����

 Vpt 42.71 cm3

&
�
�
����� ����

 Vreg 40.29 cm3

�
�� ������" ��3" �5���	
� γcyl 0.16W/K
�
�� ������" ��3" 3���
 ���
 γpt 0.19W/K

�� Δp = 28.4 kPa �����	��� �� H 1I� 3��
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����� ��
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����

	 �� �
 db = 5mm ��	 ��
 ����	 ��	5 �������� ������ C��

�Q��

�� ��������
	D ��

fs = 0.01"
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����� �� −32.1mJ"

���� ����
 ��� ���5 �
 �
���
	 ��+

	
� �	
�� ���	������" �� ��
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���������6,	
��� .��	� ���� �������

2��� � ���
 �� 24mm ��	 � �������
 �����
� �	-������
 �
�2

� 20mm ��	 100mm"

��
 �5���	
� �� �� )�&(�E )���+,������� ��� �5���	
� ���
 ��
 ��
3��5 )��3��" ��


����� ��	
 �� ��
 �5���	
� �� ����
��
	 �� � 2��
� ����
	 �
�� 
?�����
� ��?1" ��
 3���


���
� ��
 ��� �
�� 
?�����
� C��?D ��	 ��
 �
�
�
����� ��
 3���
	 �� � ������
�� ��

�

���
 2��� �� ���
� 	��

�
� �� 20mm ��	 � ����� �
���� �� 230mm" ) 3�������3� ��

��
 ����� ���������5+����
 3���
 ���
 
����
 �� ���2� �� ���" 1"$ C�D"

)� 
�
������� �
�������
 �
��
� �� 3���
	 ����	
 ��?" ) 2��
� ����
	 ��33
� ��	5

��?2 2��� � ����
��
	 ��33
� ���
 �� 4mm �� 	��

�
� ��	 143mm �� �
���� �� �����
	

�� ��
 �
�
�
�����G� ���	 ��	
" ��
 ��������
� �� ��?1 ��	 ��? ��
 
���������
	 �����


�
����+	�������
 
��������" ��
 �
�� ������
� ��
� �� ��
 ��� �
�� 
?�����
� ��� ��

��
��
����� ��
������� ��	 �� 	
����
	 �� �
 �� ����
 �� 3������
" �� �������� �� �����

��
 ���	 �
�� 
?�����
� ��?1 �

	� � �
����� �
�� ������
� ��
� �� ����2 �3��
�� 
����


�3
������" �� �
� ��
 �3��
�� �
�� ������
� ��
� ��
 ��
������� 
�	
� �� ��
	" ��


��������
	 �3��
�� �
�� ������
� ��
� �� 56 cm2� 2���� �� ���� ��
	 �� ��
 
?3
��

��"

,

 )33
�	�? � ��� 	
����� CLchx = 10mm ����
�3��	� �� Ahx ≈ 50 cm2D"



1"$" '�,��A @� ��� �M(�&���A�)E (�E,� ��<� �A��A� ;$

��
 �
�
�
����� �� 
�	
 �� �����
	 ������
�� ��

� 2��
 

�� ���

�� 2��� � 

��

��
�
� �� nm = 50 ��	 � 2��
 	��

�
� �� dw = 200μm" ��� 3������5 �� ��������
	 2���
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V

V + Vm
= 1 − π
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1000nm dw
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flywheel

drive
motor

electrical
dynamometer

Mbr
Mdr

f

pf

linear bearings

vacuum
pump

compressed 
gas cylinder

to ambient air

to ambient air

cooling water out

cooling water in (20°C)

electrical heater

V1

V2

V3 V4 V5

Qin p1

p2

hhx chx1chx2

cylinder

regenerator

Tchx2

Treg Tchx1

Tpt

gas
volume

Thhx

 

.

pulse
tube
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to compressed gas cylinder

to vacuum pump

W

Qchx
2

Pn

Psh

m

electrical 
dynamometer

Qhhx Qchx
1

drive motor

Pel

������ ���	 2�������.� �� ��� .��	� ���� ������ �� ��	 �:.��������� ��
���������

Qchx1,2
Qhhx

Qhhx

T, p

Pel

Psh
Pn

vacuum 
pump

helium
vessel

dynamometer
/ drive motor

PTE

cooling
system

heating
system

data
acquisition

crank
shaft

f

������ ��
	 1����	.������ .��
�		 H�� ��,
����� �� ��� �:.��������� 	��,�.� 2$!�
2��	� $��� !�����F H�:�	� Q̇hhx C= Q̇inD�
���� .���� ��.�� Q̇chx1,2 � ���� .���� ���,

.��	 Ẇ � 
��.��		���I�:.��	��� .���� Pn�
��� .���� Psh� 	���� .���� Pel� �����,
���� ���
���
�� .���� ṁ� ��		 H�: �������
��� .�	��� ���� 	��� ��� ��� ��	 	������ 
��,
���F ���	���� <��������	� T � ���.������� 
p� .��		��� f � �.������� ���<���
6 Pel� ���
,
���
�� .���� ��.�� C������� ������D �� ���
,
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�� .���� ���.�� C������ ������D�

��� *�����
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electric
drive
and 
drive 

control

electric
brake
and 

brake 
control

pulse tube engine
and 

mechanical 
peripherals

drive shunt 

brake shunt 

selector switch
(meas. range)

2x light barrier

amplifier

amplifier

voltage follower

heater
shunt

2x potentiometer 
(temp. set point)

13x 
thermocouple

2x piezoelectric
pressure sensor

heater 
switch

voltage divider

amplifier

amplifier Uhhx

Agilent
34970A

micro
controller

measurement
computer (PC) 

equipped
with measuring

board

  Thhx , Tchx1 ,

  Tchx2 , T reg ,

   Tpt ,     , p    

2x LCD

heater
relay 

heater

f , Pbr , Pdr ,
Thhx , Qin
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6 f  ��� �����
.���� Pbr �� ��� ���
� .���� Pdr ��� ������� .���� ��.�� Q̇in ��� ��� ���.������� �� ��� ���
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1.615 ζ

1
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√
2

1 + 22Pr
ζ

3
2
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2�
�
 ��
 �5	������ 	��

�
� �� ��������
	 2��� ��
 ���
 	��

�
� d �� dh = d" ��� �

�
��������� 	��� 9�2 ��
 A���
�� ��
�
� �� ��������
	 �����

Nud =

(
428.832 + 6.24 ζ +

√
2

1 + 22Pr
ζ

3
2

) 1
3

, C1"7D

2�
�
 ��
 �5	������ 	��

�
� �� ��������
	 2��� ��
 	��� 2�	�� w �� dh = 2w"

,���
 ��
 3����� ��������
 �� ��
 �
�
�
����� �� 
�	
 �� �����
	 2��
 

�� ���

���


?3
��

���� ����
������� ��� α ���
 H4%� ;%I ��
 ��
	" ��
 �
�� ������
� ��
� Ahx ��

��
 �
�
�
����� 2��� ��
 �
���� L ��	 ��
 	��

�
� d �� ���
� �5

Ahx = e (1 − e)
π d2L

dw
. C1";D



;% =�)(��& 1" '�J�E@(��A� @� ) .@&K�A� �A��A�

��
 �
�� ������
� ��
>��
�� �� ������
	 ���
 H4%I �� �


α = ψ
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����	 �� ��� �.������� ���<���
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�� ����� �	
���
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���
��	 ��� �
������� �. �� � ���� ��.��
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���
����	 �� ��� 
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 �
�
�
�����0

Sirr,reg = 0

�"'  � �������� �%#�����! (��.��� ��� # '� �����

∑
i

H ′
i +
∑
i

H ′′
i = 0

�"'  � ���� �� �%#�����! (��.��� ��� # '� �����

∑
i

S ′
i +
∑
i

S ′′
i = 0

$��#/ #�#�� ������ (����#�

Ecycle = 0

$��#/ #�#�� ���� �� (����#�

Scycle = 0
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��� pf = 5bar+ Tc = 300K+ Th = 600K

��� pf = 10 bar+ Tc = 300K+ Th = 1000K
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����	 CAhx ∝ LchxD�
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